=LPDB

*UXSD 5R]NiDG )0 / 7\J
7 7N 7 7
- 3UND VIDINRZD GZ G GHPLQDUXP JRIRID L ERFKHPID )
< = RINQD -DQXV] $&6 & PDJIVIHWNH GU KDE VSRUIX (DE SURI GU KDE = IDIQRVIAND JGRIQRGFL
= 2)o & SIRI 8- ODUHF 30V HiDZ =) O Z\VENRZAFK FJERZIHND
=] ‘ . ]
o - N 1DICFLD WZDig $UNDGD_(V] $ ) / . (DE SU OLFKDIVNL
e Pl o - = NI ]DICFD WZDia &HIDN $&6 .21)
=1 = NJ  ]DICFID WZDia PLQ =DICFLD RGECG o 7
& PLQ VIC Z 3UDFRZQLLJIRIRIL =N\ ]DICFID WZDia
n = \ViNX )LI\FIQHIR PIQ
EXG\QHN $&6 X0
=EIHWNHIR
7N 7N 7N
6SHFIDI]DFID Z VSRUFH = IDJQRVIAND JGRIQRGFL JIRIRID L ERFKHPLD
WHQHU SHWRQDIQ\ Z Gl Z\VENRZAFK FJERZIHND VSRUX Z SIRI GU KDE
SDN /HRQ =DICFID RQ Z GUKDE SWRI 8-" 30V zIHVDZ =DICFID RQ
IH =)0 = *DENG 7RPDV] =DIGFID IH =)0 =
= N\J  JDICFLD WZDig RQUQH =)0 = = N\J  JDICFLD WZDig
g Pl ZNJ  IDIGFID WZDig PO
T PLQ
z 7N
=
N
3UHGPLRI IHRUHINFIQ\
GR Z\ERUX GU KDE ‘SIRI
8- ODUJHF SINDGIXV]
=DICFDRQIUQH )
0} z
- INJ  ]DICFLD WZDlg
PLQ
7N 7
A 6HPLQDUXP PDIVIHWVNH GUKDE SIRI GSHFIDIJDFID Z VSRUFH  IUHQHU
8- *DENG 7RPDV] $% B SHWRQDIQ\ GZ PJU 6]IXERZVND
O]
x o - ODUHQD PJU 6]\PDQHN 3UDUFT\N
I oDUD $&6 6/2:-1,$ =:-)O
&
=N ]DICFDWZDia K PLQ
™
o3
7 7
- 3UTHGPLRI IHRUHINFIQ\ BIDIVIAND (DE  GU KDE
T GR Z\ERUX GU 5DN 7HRQ SIRI 8- = gVIN -DFHN
o $86 .21) )0 2%
7 & .20387(52:%
)o0 /
- INJ  ]DICFID IZDlg
PLQ
7\6] 7\6] 7\6]
= 3UTHGPIRI SUDNINF]Q\ GR Z\ERUX IDQIHF PV 3UTHGPIRI SUDNI\F]Q\ GR Z\ERUX IDQIHF PV 3UTHGPLRI SUDNINF]Q\ GR
@ G]\PDQHN 3IDUF]\N ODUID $&6 $(52%,& =) G]\PDQHN 3IDUFJ\N ODUID $&6 $(52%,& =) Z\ERIX IDQHF PJU
& o & o & 6]\PDQHN 3UDUFT\N
> ODUID $&6 $(52%,&
)0 &
7\6]
- 3UTHGPLRI SUDNI\FQ\ GR Z\ERUX IDQIHF  P.JU 6]T\PDQHN 3UDUF]\N
oDUD $&6 $(52%& :)O &




